15:45

A3 5 @ 3

? 1



©)
A7 ol A

o 2744V
U}

B!

@ 9



o

olJ
o8

<|n
TR

Ile]

o
Al
<
o7

!

o

Hr
ol

BH

<= 2704yt

al

1

o] Apole] Aol

B
(el

IS

7

(B ol



4.  AElE BAAR Ae BF AE2AL,

@ y=4xx @ y=x+5 @ y=4+x

@ y=7-x ® y=15xx



5.

= oA y 7t x ol HHH|EohE AS BF 12X L.

® xxy=3 @ y=5xx

@ y=5+x-2 ® y=2+5xx



@) 0.25><g



7.






ZIR mofel] Qere v 192 90,0904 12412,




Fol St Qo 4 B mopo] b2t ohg3}

2535

1.

A



11. 279 J¥y ge

847



AQ50] B @) : @ LERd W), B+ @) g2

5
8

6.3:2




13. o3 mlE Al [ [ ete]l gre 5 4R YERAL.

12:] ]=3:2




14. 9= 3% Qo] Eof

®1:2=[ ]:12
® 30:[ |]=25:5
®f |:18=7:21



15.

%o Holk $E Ros|QULh P $ES 8
o 1 FolA Selubet SEe 9)F I 40 3

Setet $EE B AT QA FHAL.

Y %



]-6 E]'E'TO: = =1 =1
AU $ALA S ojsh 5-9] 2 Hjslu7t
stmd st
0 10(cm)

Lo Lo b b by by by by by 1y
G| 25 |FAR LY

aAE 2275 o ?'i}-ﬂ(}} A

|

ohetal

@ 24 @ 4 4 B 5 Hj @ 6 v} G 8 Hj



17. Axt 2ol 271€ vlaLste], O ¢hfl >, <

=2 olur
= 2 X

AW LAL,

4 1
1-+1202-+03
5 O 4




g otz

Uk 4 1)

il
IA
—_—

1jo

cm




QLEIY 217} 1205.76em? 7} 5| A
o o2 012 LA L



Ut #2 Azl &8l A9 52 EH 2

Zpe] Zol7}t 20 cm A
el xem 9 1 2] Aol yem ] TAAL T L.

(=g
c



21. s AHEES] Wl 42em? 9
o] Aol F5HA 2

5 1 1
© 1gcm @ 17 cm ® 2-cm

3
@ QECm ® 11
6 6cm

2

(0]
- S

“2-cm

Wl




12 HQF 37M R Liro] HAJL.



™

12
of

Tor

7 B
3 ol

9]
3

Tor

S 77T R HHO  H= T 4
o o, FA

™
&
B a1
T
Jp
~ or
N =
@wﬁ
el on
o N
R
H .o
o Hf Bo

Bo



24.

A b, @, @] A5 Polg e

7cm



Rl

>
of,
1o
T
b
<2

71E 4, 5, 63Fdo] FRE S et
chEat Fsyeh of o, Al sl tiet £2 AvE
m ¢l I zE vepd o, 3} $R7F AA]sh= dolE
A =4 A2 A R E gy )

ot
ol
2o}

N
—_
)

0

N el

o O B ox
i
i)
rr

>
fo
/rﬁn

s

43ty 400
0 10 20 30 40 50 60 70 80 90 100
Ly Py by b by b by by by by

& 2 D

(53fH) 500
0 10 20 30 40 50 60 70 80 90 100
N N N Y O O O P I

2 B B

6etd) 4508
0 10 20 30 40 50 60 70 80 90 100
P P O Y P Y N N Y

7t 1

filo

[¢]




